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	QUESTION 71

A XenApp Administrator plans to use Citrix NetScaler to load balance Web Interface servers.

Which persistence setting should the administrator choose to correctly configure high availability

for Web Interface?

A.    NOCE

B.    DESTIP

C.    SOURCEIP

D.    COOKIEINSERT

Answer: D

QUESTION 72

Scenario: A XenApp Administrator of a 100-server farm needs to apply Citrix and vendor hotfixes

on a monthly basis, and a server restart is always required. The administrator needs to automate

this process but does NOT have a third party tool available.

Which two tasks should the administrator complete to guarantee that updates will be applied

successfully? (Choose two.)

A.    Prohibit logons and notify users.

B.    Restart the server and install hotfixes.

C.    Apply application load evaluators and notify users.

D.    Log off all users from servers and schedule a .EXE setup file installation.

Answer: AB

QUESTION 73

Scenario: A new administrator has been asked to ensure that all servers meet the minimum

required patching level. A test server has been used to confirm that all patches can be deployed to the production servers. Testing has

identified that production servers are NOT at the same patch level.

Which action can the administrator take to identify which patches are required on each production server?

A.    Use the Citrix Computer policy wizard.

B.    Use the Citrix AppCenter History node.

C.    Use the Citrix AppCenter Configuration Tools node.

D.    Use the Prepare this server for imaging and provisioning task.

Answer: C

QUESTION 74

Which component should an administrator monitor to verify if the XenApp servers are accepting

ICA connections?

A.    ICA Listener

B.    Logon Monitor

C.    Citrix IMA Service
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D.    Citrix Streaming Service

Answer: A

QUESTION 75

Scenario: A user reports that a hosted desktop session is sporadically slow. To assess the

problem, an administrator reviews the Client Connection Status of the user and observes the

information displayed in the attached exhibit.

Click the Exhibit button to view the attached exhibit.

What can the administrator assess about the network based on the information in the exhibit?

A.    ICA network traffic is functioning normally.

B.    The white receive bar indicates there is a problem receiving data.

C.    Incoming data is constrained as evidenced by the number of incoming versus outgoing frames.

D.    Outgoing data is constrained as evidenced by four times the number of incoming bytes/frames.

Answer: A

QUESTION 76

Scenario: A remote user has reported that published applications are occasionally slow or choppy.

The administrator thinks that it may be a network issue, and requests that the user send a Client

Connection Status screenshot which is shown in the attached exhibit.

Click the Exhibit button to view the attached exhibit.

Which conclusion can the administrator make based on the information in the attached exhibit?
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A.    ICA network traffic is functioning normally.

B.    The white bar indicates that there may be a problem with incoming data.

C.    Outgoing data is constrained as evidenced by the number of bytes/frame.

D.    An older version of the Citrix Receiver may be causing ICA traffic to function less optimally.

Answer: A

QUESTION 77

Scenario: A network team is deploying a proxy server to a specific remote site in order to improve

security and performance of the remote site. All traffic must pass through this proxy server when

the new infrastructure goes live. The administrator must ensure that this happens automatically

when a user logs on to the server through their client device following the upgrade.

To ensure centralized configuration of the appropriate proxy server for the site, the administrator

must enable the 'Configure Client Proxy Settings' setting in the ICAClient template and apply it to

the site __________. (Select the correct option to complete the sentence.)

A.    OU

B.    user group

C.    computer group

D.    default domain controller

Answer: A

QUESTION 78

Scenario: A financial application is hosted on two XenApp servers in a worker group. Users report

that they often have to click the published application icon several times before they can successfully launch it.

An administrator notes that one of the servers was removed from service due to hardware issues.

The other server is fully functional, and it has the necessary resources to handle all the users'

connections.

What could be a reason why users have to attempt to start the application multiple times before

they are successful?
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A.    Multi-Stream Connections has been enabled.

B.    A custom load evaluator incorporates load throttling.

C.    Session Reliability has been disabled for remote users.

D.    Pass-through authentication is NOT enabled for users accessing through the Citrix Receiver

Enterprise.

Answer: B

QUESTION 79

Scenario: An administrator for a new Citrix XenApp 6.5 farm is providing a hosted desktop to

users. The new EdgeSight implementation will NOT support XenDesktop or endpoints.

Which two default alerts should the administrator delete so that only XenApp relevant alerts are

configured? (Choose two.)

A.    Heartbeat Halted

B.    VDA Failed to Start

C.    Desktop Registration Failed

D.    IMA Service is Unresponsive

E.    Farm Data Store Connection Failed

F.    Configuration Logging Database Unavailable

Answer: BC

QUESTION 80

An administrator can use Microsoft Excel with Citrix EdgeSight to provide __________ report.

(Choose the correct option to complete the sentence.)

A.    a real-time

B.    a network latency

C.    the XenApp user summary

D.    an Online plug-in version list

Answer: A
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